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SECTION A: Musdtiple Cholce {24 X 2 marks)

There are 24 questions in this section. Answer all of them. For each question, 4
suggested answers are given. Choose the most suitable answer and shade the
comect oval on the Optical Answer Sheet {OAS),

1. Which one of the following sentences about living things 1s NOT correct?
{nm l.iving things mowve from place to place.
{2} Some living things die but some do not,
{(3)  Living things need air, food and water to grow.
(4} Living things respond fo changes around them.

2, The classification table below shows how some living things are grouped,

Living Things

| | -

Group A Group B Group C
mudskipper cattail puff balls -
platypus duckweed Jew's ears

Which one of {he following shows the corect heading for each group?

I Group A Group B Group C
1) Fungi Flants Microorganisms
{2} Micra-organisms Animals Fungi
{3) Flanls Fungi Animals
{4} Animals Flants rungi
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The classification table below shows how some animals are grouped.

Animals
goat ducL crab
rabbit eagle CE
monkey tmynah turtle

These animals are classified according to

(1}  what they eat

{2)  where they live

{3) the way they move
{4)  their outer coverings

The cheetah, the deer and the menkey are animals that fve in the forest.
All of them

A are plant eaters

B. ara animal eaters

C. give birth to thelr young
0. have hair on their bodies

{1 Aand © only
{23 B and C only
(3} B and D only
{(4) CandDonly

Which one of the following shows the correct order of the stages in the Ffe
cycle of a butterfly?

(1) 5:' Pupa c:_TJ (2) E Larva (‘,ﬂ

Egg Larva Fupa Eqg

Il.‘) Aduit ré? Eﬁ) Adult Eﬁl

(3} {4) .
E’ Eqg C:t] E Larva Cﬂ

Pupa Larva Egg Pupa

I—'—J? Adult éj\ ﬂ—_> Adult lﬂ

1}
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6. The pictures belaw show the young of 8 butlerfly and cockroach.

young of butlerfly young of cockreach

Pased on what you can see in the pictures, which of the following isf are true
ahout both the young of the butterfly and cockroach?

{1)
(2)
(3)
{4)

A. Both have legs.
B. Both are wingless.
. Both look like their parents.

C only

A and B only
B and C only
A,BandC

The diagram below shows a plant growing in & garden.

Which of lhe following stalemnents isf are correct?

(1
(2)
(3}
(4)

& This ptant has 8 weak stem.
B. This plant is a flowering plant.
. This plant reproduces by Spores.

B only
C only
A and B only
B and C only
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8. The classificaion table balow shows how some plants are grouped.

Flants
Srotup A Group B
waler otus hiret's nesti fern
hibiscus stag’s horn fern
rose Moss

The plants in Group A and Group B arz classified according to whether they
are .

(1} land or water plants

{2)  green or non-green planis

(3} flowenng or non-fiowering plants

{4y floating or half-submerged water plants

9. The diagram below shows a seedling which was grown in soil '

Fad X

{13 absorbs waler

(2)  absorbs mineral salls

{3) cames out photosynthesis

(4  provides food for the seedling
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j0.  The diagram below shows parts of a plant.

Which one of lhe fallowing statements about pars, A, B, C and 13, is comect?

(1}  Part A develops into a fruit.

(2) Part B makes food for the plant. :

(3) Part C contains and protects the seeds.
{4y  Part D holds the plant firmly in the ground.

11.  Which of the follpwing statements about mMiCro-organisms isf are true?
R iafic B
A Bremdmooid is a MICro-orgamsn.
&. Micro-orgarisms are living things.
C. Some micro-organisms are harmiul.

(1) Aonly

{(2) Conly

(3) AandBonly
4y A Band C
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12

13.

14,

Anu used the pot below o cook soup.

A

Which one of the following shows the characieristic of *A’ which makes it a
suitable material for making tha handle of the pot?

(1) Hisflexible.

[2) It breaks easily.

{3) It can float in water,

{4)  Itdoas not get hot easily.

Which one of the following is NOT a sense organ?

{1} eye
{2)  skin
{3) nose
{4) heart

John's teacher gave him fwo identical metal tins, A and B. One tin was half-
filled with cotton wool and the other was half-filed with marbles.

licls

Tin A Tin B

John's teacher wanted him to find out which tin contained the marbles without

operning fhe lids of the tins. Which cne of the following senses will help him to
do so? .

{1}  sight
{2) taste
(37 smel
(7 hearing
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. 15,

16.

The diagram belo

answer Questions 15 and 16.

Which one of the following shows the correct na

(1)
(2)
{3)
(4}

w shows paris of the. human digestive system. Use it 1o

mes for panis A, B, C and D?

A B G 8]
jarge intesting small intestine guliet slomach
stomach guiiet large intestine | smatlt intestine
guliat stomach small infesting | large iniestine

small intesting

large intestine

stomach

gullet |

Mast of the water from undigested food is remaved in .

(1)
(2}
(3)
{4)

oCoOwr
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18.

The diagram beiow shows the skeleton of a human body. Use it to answer
Questions 17 and 18,

Which of the following statements about Joint X is correct?

{1}
(2)
)
{4}

Part Y protects our

(1
{2)
(3}
(4)

A. Itis a hinge joint.

B. Ht is a ball and socket joint,

C. It allows movement in al) directions,
D. 1 allows mavement in one direction.

A and C only
Aand O only
B and C only
Band D only

A, brain
B lungs
C. heart

A only

A and B only
B and C only
A, B.and C
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19.

20.

The baby is maving around in a walker as shown below.

Which of the following help the baby o move around?

W

(2)
(3
(@)

A joints
B. bones
<. muscles

A only

A and B only
B and C only
A Band G

Tom strokad an iron nail with a magnet as shown balow,

Atter repeated stroking. the nail was able to attract some pins.
which ane of the following statements is TRUE?

(N
{2)
(3)
(4}

The iron nait is magnetised.

The nail is mos! likely 1o be mada of copper.

The more timas the iron nail was shroked, the less pins it could attract.
The magnet lost its magnetism when it was used to stroke the iron nail.
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21.

22,

John was given a har Magnet Z wrapped in Paper. Which of the fallowing
could enable him to find out which is the N-pole of Magnet 77

A. Use the S-pole of ancther magret {o atiract the N-pole of Magnet 7.

E. Try to attract as any paper clips as possible o bath ends of the
magnel. The end whichr atiracts more Paper clips is fhe N-pgle.

C. Tape Magnet 7 to a piece of styr-f::foam floating on water and et jt

¢ome lo a north-south resting position. Then use 3 cormpass o tell
which end the N-pole is. '

{1)  Acnly

(2} .Bonly

{3)  AandConly
(4 A RandC

_ Magnets A B and C are ring magnets. Magnet 8 is placed through a rod and

rests on top of magnet A as shown in Diagram 1. When Magnet Cis placed
through the rod, it seems io fioat abave Magnet B as shown in Diagram 2.

xi—— woodenrods — b

Magnet C

Magnet B

Magnet B
= Magnet A

— Magnet A

Diagram 1 Diagram 2
Why does Magnet C float above Magnat B in Dtagram 27
{1)  Like poles of Magnets A and C are facing each other.
(2)  Unlike poles of Magrets A and C are facing each other,

{3)  Like poles of Magnets B and ¢ are facing each other.
{4} Unlike pofes of Magnets B and C are facing each other,
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23 Pater made an electromagnet using tha set-up shown below.

Lalteries

d

ro
Eﬁ paper clips

He found that the rod in the set-up coutd NOT attract any of the paper clips.
which of the following could be an explanation for his observation?

{1}  The rod is made of steal,
(2) Therodis made of aluminium.

{3y  The paper clips are made of steel.
(4). There are too many coils of wire around the rod. ..

24, Which one of ihe following makes use of magnets to wark?

{n

(3 " {4)

Fege 11 of 21
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Name @ Index No: Class: P 3

SECTION B: Open-ended questions (16 X 2 marks)
There are 16 questions in this seclion. Answer afl of them,
Write your answers in the space provided,

25, Some living things are grouped in a classification table shown below.

l Living Things ‘|

|
J - ]

f Make their own food [ Feed on other living things
- - | Live in water ’ Eve o land IV Live in water ’ | Live on FandJ
water hyacinth cocorut guppy cockroach
duckweed rubher tree waler snail horse

{a) How is a water snail simfar la a cockroach? (1 e

(b} How is a rubber tree dgiffarent from a horse? {(1m)
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26.  Animals move for various reasons.
Malch each of the animal movements to its comect purpose by joining the
comrec) dots with lines. {2 m})

Animal Movemenis Purposes
A figer chases a zebra. o ‘» it_ﬂlnuk for shelier 1

A mpuse runs away from

| =
a cat. K . - Ehunlfnrfmd J

A fion moves lowards a - % | to Inok for food
| shady ree on a hot day.
& hungry monkey climbs 2 -
Fruiit ree. - to escape danger o

27.  The following table gives information on two animals, X and Y, based an their
characterislics. A lick {¥) shows that the animal has the characterislic.

Characteristic X Animals Y
Lays eggs N
(Givas b'r.r'th ta its young N )
Has a hairy nuier CoVEring N
Has feathers N
Has six legs

From the information above, where do animais ¥ and Y belong in the
classification table below?
Wiite only letters, X or Y, in the boxes provided. {2 m)

‘ Animals l

|
L 1 i
Mammat IEJ::'h Al I Bird B ' Tnsect
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28, The diagram below shows the life cycle of a cockroach.

{a) Name the stages, A and B. {1 m)

Stage A

Stage B

(b} " AS the animal develaps from Stage A 6 Stage B some changes can
be seen. State ONE of its changes. {1 m)

29, Fruits A and B have been cut a5 shown below.

:

Fruit A Fruit B

Based on what you can see in the pictures above, wiite down one simifarity
and one difference between the two Fuits. {2 m)
{Do not compare their size and shape.}

]
Simifarity

. —

Difference

Fage 14 aof 21
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30.  Calvin found the plant shown below.

The chart below shows one way to sort plants.

l . Flant

¥

Does it have roots? Yeg| Does ithave | Yes| fern

. spores?
| \es

i Moss Does it have flowsrs,
. : fruits or seeds?

Mo res

ettt

pnon-flowering .;1' flowering plant‘\

{a}  Based on the chari above, what was the type of plant that Galvin found
likely to be? (1 m)

{b) IF Calvin found anather plant which had roots and reproduced by
: spores, which type of plant would it be? {1 m

Page 15 of 2%
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31, Aligrew some seeds on some cotion wool in a plastic container as shown
below,

seeds ™ 4

\ — plastic container )

The container was placed in 2 dark cupboard for a few days.

eotion wonl

(a) Al observed that no roots appeared at all after a few days.
Explain why no roots appeared. {1m)

{b)  Virite down the conditions needed for the seeds to germinate.
(1 m)

Pagn 16 of 1
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32.

The pictures below show the different siages of growth of & bean plant.

G

qQ

L_

Stage A Stage B

(g}  Asrange the stages to sh

Stage C Stage D Stage E

ow the carrect order of growth by writing the

letters, A, B, C and D, in the bexes below. Stage E has been done for

you. ;1 m)

s
|
<

S~

(6)  Atwhich stage, A, B, C, D or E, does the bean plann make its

own food? (1 m)

Page 17 of 2%
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33.  The diagram below shows a leaf,

B

| {a) N'a.rne parts, A and B. {1 m)

A leaf

B ° {leaf

(b} Agreen substance, which traps ight energy, is found in A.
Name the substance. (1 m) -

34.  Mark wanted to carry some wet clothing home after his swimming lesson.
The dragrams below show twe types of bags.

e &Yy

plastic bag paper bag

(@)  Which bag should Mark use? {1 m}

(b}  Give a reason for your answer in {a). {1 m)

Page 18 of 2
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35, During a music lesson, each pupil has to leam 10 play a recorder.

(a}  Name TWO sense organs ihat are used by the pupils during the
lesson. (1 m)

()  Choose ONE sense organ you menlioned in (2} and explain how it is
used by each pupil lo play a recorder. (1 m}

36. Name the bady systems thal match 1he functions shown in the table below.
(2 m)

Functions Body system

(a) supporis the body

(b) takes oxygen into the body

{c) remaves waste materials from the hody

{d) breaks down foot into simpler substances

Page 19 of 21
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37, The diaaram below stows Muthu climbing up a cliff,

Muthu used his shouider and neck joints te help him ciimb up the cliff.
What OTHER TWO joints did Muthu use? (2 m)

(@)

{b)

38 Study the diagram below and fill in the blanks,

Joint X
(@}  Inorderfor the arm ic bend, Muscle A must while
Muscle B must _-{1m

(b} Name ANOTHER part of the body with a jeint similar to Joint X, {1 m)

Page 20 of 21
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38.

40,

Setters,

Ali was given two magnets, a ruler ard a nicke! coin. He discovered that
Magnet A was able to attract the coin when it was 5 cm away while Magnet B
could attract the same coin from as far as 9 cm away.

Magnet A —Q)

I O | | T |
Ruler 0 12 24 567 8 8 10cm

Magnet B — O coin

T D P | i
Ruler D123455T89mcm

(a}  Which magnet, A or B, is stronger? {1 m}

(b}  Give areason for your answer in (a). (1 m}

Ali saw a coin in a glass cylinder of water as shown in the diagram below.

strong
magnet - — glass cylinder of water
. ‘f‘f‘a
(3 coin

Describe how he would use a2 magnet alone to get the coin without pouring
the water out or putting his hand(s) into the cylinder. {2 m)

N - END OF PAPER -
Mam Doris Yap
Mdrr Prisca Fernander,
Mr Ronald Lee
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Answer Sheets
Raffles Girls Pri 3 A2 /7 2006 Science

D 2 2 4 3 4 4 4 sy 2
6 2 7.3 8 3 9 4 10) 3
1) 4 12 4 13) 4 14 4 15) 3
16) 7 18) 19} 20)

2) 3 2y 3 23 1 24 4

Q25a.  Both feed on other living things.
b.  Rubber trce can make their own food and the horse feced on other Tiving

things.
Q26
Animal Movements Purpases
A frger chases bBra. -
G €5 a zebra !:: ook for shaller ’
& mouse runs awa m v
5 cat. u y fro i to hwnl For fonod —‘
Adion moves towards a to lock for f
shady tree on a hat day. @ ook for foad
[ A hungry monke climbs g
fruit tnl*;.,r g "2 escape danger .
Q27.

Ingecl

— I I b
r Mammal Fish i Biref
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()28a. Stage A : Nymph
Stage B Adult
b, The wings will grow.

Q29.  Similarity : Bothare cdible frits.
Different : Fruit A has many seeds and Fruit B has few seeds,

(30a. Itisatomalo plant.
b. [Itisafern plant

- Q31a.  The seeds need air, warmth and water. Its need water.
' b,  Air, warmith and water. :

Q32a. / Z]\,\\* l
o
[+ —[=]

b. Stage A the bean plant start to make its own food.

Q33a.

P/ ~A  blade

B
T stalk
b, Chlorophyll

(G3da. Mark should sue Plastic bag.
B. Because it is waterprood , it will not break casily.

Fage 2 of 3



Q35a.  Sense of sight and hearing,
k. Qur sensc of sight allows us to recopnize and learn the notes to play the

recorder.
Q36. i .
Functions Eody systemn _1
{a}'5uppuﬂs the body Skeletal system
) taikes oxyoen into the hady Respiratory system
[_L‘.] ﬂ-i"l:ﬂﬂ'ufﬂs wasle materials from the body Circulatory system
{d) breaks down food into simipler substances Dhgestive system

Q37a.  Knee joint
h.  Elbow joini

Q38a.  In order for the arm to bend, Muscle A must Be contract while Muscle B
must relax,
b.  Knee joint

Q3%.  Mapnet B is the stronger.

b.  If the coin is able to atiract to the magnel from far away, the magnet is very
stromg.

Q49.  Place the strong magnet near the nickel coin outside the cylinder. The nickel
coins is picked up using the strong magnet, slowly move up the nickel coin
lo the brim of the cylinder.
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